SolarPartsComponents.com

Tel : +86-592-5900866

Fax : +86-592-5900266

Mob : +86-183-592-60008
info@SolarPartsComponents.com

www.SolarPartsComponents.com

EIE;-@'EI

XIAMEN TOP BEST TECH CO.,LTD

UAN
2

— SOLAR ENEAGY =

Sefar Mounting Parts
And Components Factory




COMPANY FACTORY

GUANHUANG GROUP

' XIAMEN TOP BEST TECH CO.LTD
Hebei Guanhuang New Energy Tech Co., LTD
Quanzhou Caiguang New Energy Tech Co., LTD

Fujian Guanhuang Wisdom Energy Co., LTD

Xiamen Guanhuang Industry and Trade Co., LTD

Handan Guanhuang New Material Tech Co., LTD Gl — 3 : B




01 | PV Mounting Factory

A

A PV Mounting Factory | 02

CONTENTS

ABOUT US

Mounting Components

Roof Hook Series

Grounding Clip Series

Cable Clip Series

Grounding Lug Series
Ground Screw Series

Solar Mounting Rails

Solar Clamp Series

Metal Roof Bracket Series
Rail Nut Series

Hanger Baolt Series

Fastener Bolt Series

T Head Bolt Series

Screw Series

Washer Series

Rubber Pad Series

Water Drain Clip Series
Waterproof Component Series-ZAM
Waterproof Component Series-Aluminum
Solar Panel Bird Guard Series
Cable Tie Series

Walkway Series

Cable Tray Series

Multifunctional Snow and Water Clamp

01

03

03

15
17
19
21
25
a7
51
53
55
57

.59

&0
&1
63
71
73
74
75

BTIETESNESRIANELE

BiER
EEERESRVARES LS

L Aal Bt b L

Ll LTS

o
H Eumd AEAEEEEE. (EEaEE

L LU LR LR R T e e ]

e ———————y

By w : =
L FL R EMENYHER
|
A Ak i AP
'P B 'p |
EMETEHIER ENKETEHER
o i o i _

ABOUT US

Xiamen Top Best Tech Co., Ltd belongs to Guanhuang Group, established in 2011. It is a company integrating
the design, development, manufacturing, sales, and service of mounting accessories and brackets with professionals
engaged in solar energy mounting R&D production and sales with 1,600 o in Xiamen Fujian. After years of development,
it has become a manufacturer of solar mounting components and accassories.

In 2019, a foreign trade team was established, and our company mainly provides aluminum, steel & copper solar
mounting components for pv power plants. Our products cover small distributed rooftop power plants, medium-sized
commercial pv power plants, large ground energy station fields, and various photovoltaic system installation accessories,

SPC Solar has been one of the market leaders in solar mounting structures. After years of accumulation, the
company has taken R&D and innovation as the driving force, continuously promoted product upgrades, and built a strong
manufacturing capability and a complete industrial chain system; we have gathered extensive customer
resources at home and abroad.

In China, our Guanhuang Group works closely with companies such as CHNT, SKYWORTH, Jinko, Risen, Midea,
Hua Xia Bank, Haier, and LONGI; overseas, our SPC Solar customers are all over the world, including Japan, Singapore,
the Philippines, Indonesia, Malaysia, Africa, the Middle East, Europe, and America.

The company currently has more than 500 employees. It fully implements CE, 1509001, 1504001, and 15045001 and
has a 28,000-square-meter manufacturing workshop and 6 factories. A group of strong teams focus on photovoltaic design
and research and development.

SPC has focused on the solar mounting component manufacturing industry for maore than 10 years. SPC Solar is
committed to serving customers all over the world, so that sunshing brings more green energy to everyone,

XIAMEN TOP BEST TECH CO.,LTD




03 | PV Mounting Factory

A

P\ PV Mounting Fact

ory | 04

Roof Hook Series >»> 5> Roof Hook Series > »»> >

Description : Roof Hook-19

R 8.5 83 Description : Roof Hook-20 30 90
item NO. : 100020043 g ©- E: i ltem NO. : 170110005 N Eﬁé T :
Material 1 AL6005-T5 s 12 ~ Material 1 AL6005-T5 i’l [ o |5
f 95 @ 106 . ©
E 3 e —3 Ai sl

ol
M M10

Description : Roof Hook-15 140 0 Description : Roof Hook-02 N
item NO. : 100080025 o , - item NO. : 100080072 140 & —
Material : SUS304 N - Material : SUS304 54 5
= E‘ér‘_— . N %___- :
o o o omal@7 s | L s T

Description : Roof Hook-01 30 Description : Roof Hook-03 30
ltem NO. : 100080032 | Itemn NO. © 100080045 DL. ﬁ
Material : SUS304 E LJ_U._E._, Material : SUS304 f@l’ﬁ 55 105 2
i - =1 d (=T - = N = .! EE
l _!ln'l a_li_‘?_i_“ L -.';I ,q.:c
180 180

X
n
0 Y
—
\1:.
=
e
P
/
oy
25
=
i




PV Mounting Factory | 06

05 | PV Mounting Factory

Roof Hook Series >>>>> >

Roof Hook Series >>> >

Description : Roof Hook-04 30
lterm NO. : 100080021 9 1 —
[=)
Material : SUS304 Ul o 3
g bl
o 180
50
I rr_ﬂ g12 q
> L -
= e S 0 i = 3
o o %
Description : Roof Hook-05
P .30
ltem NO. : 100080018 ] ﬁ_l]
Material : SUS304 o 15 55
a :.&_\ I'Ll_::! J_',.I'
180
L, -
1 o
M10 }}!\@
® ©
Description : Roof Hook-07 80 3
ltem NO. : 100080020 —
Material : SUS304 R =
s |_F

Description : Roof Hook-08
Item NO. : 100080046
Material : SUS304

Description : Roof Hook-09
Item NO. © 100080044
Material : SUS304

Description : Roof Hook-10
Item NO. : 100080033
Material : SUS304

ﬁsn n‘l—’]—' =n 30 lﬂ-
J— W,

58 —
dnob}:nw’@lé 1 LLiJ'-
Ln-l FIE-2R - o-; o ]

180 (I==—
I—.- _M.lu @@
I~
&
.30 115
°| =
I &
. 165 =

NIAMEN TOP BEST TECH CO.,LTD




07 | PV Mounting Factory

‘ PV Mounting Factory| 08

Roof Hook Series >>>> 5>

Roof Hook Series >>>> 5>

Description : Roof Hook-11 65 Description : Roof Hook-14
Item NO. : 100080007 ] 30 Item NO. : 100080061 . i__..._ﬁq
Material : SUS304 Material : SUS304 S : 9
S ________\_ Ko 1-' |—
- 286 200 | o
. ‘_E " ’ y J - - A S
IS3) T%_2) L~ = A
Description : Roof Hook-12 | 30 Description : Roof Hook-16 .30
item NO. : 100080010 g 9 Item NO. : 100080034 o Mo
Material : SUS304 51—| Material : SUS304 EEII [T
| __I-'=—==== |
S J - 2848 ] -ﬁ. 30
L 286 .y
¢ E 3 1
il I — T~ = Z <] —
= 8 %?:;;a
Description : Roof Hook-13 Description : Roof Hook-21 30
item NO. : 100080003 -80. 30 gern NO. : 100080126 1 g
Material - SUS304 —— ﬁ Material : S350-ZM T J '—| m
uy 1l El :.54.
P — '@-'"'
' =l of [o 0 o o oo e
I""I o O o o oo m
L 286 180
oo 1=H] T N N
S D, 2 o2
g L
q




09 | PV Mounting Factory ‘

PV Mounting Factory| 10

Grounding Clip Series >>>>>> Grounding Clip Series >>>>>>
Item NO. Name Picture Specification Drawing Item NO. Name Picture Specification Drawing
5.-
85 44
14 - ﬁ . 3,
100060001 Grounding e 0.3x32x30mm — 100060007 G(ﬂUndlng 0.3x51%28mm
Clip ® & o Clip — mL:‘-—_-uuﬁ guﬂu
& . l‘:_‘] A E‘
;l.r 1_': 172" ] [=1=1+]
o |0 o0
=
2# _ 9 o Lle g 84 i
100060002 Grounding ~4 0.3x30x50mm o m e 100060008 Grounding _s- ‘. 0.3x51x40mm
Clip -~y A o |glgg o oSt Clip T
23 @
44
50 _
23.3
—25.4
3# =) [ o# » \
100060003 Grounding . 0.3x34x32mm 100060009  Grounding = ﬁ 0.3x40x47mm
Clip & {\ Clip <
85 _
50
44 J 104
100060004 Grounding 0.3x40x50mm °l o g 100060010  Grounding 0.3x45x29mm
Clip _ ggk{ Clip
=~
34
5 24 . |5
S# e — ool LX-N 1#
100060005 Grounding T 0.3x34x44mm 100060011 Grounding 0.3x50x30mm
Clip ' -5 3 Clip = ‘
00| oo ]
6# 124

100060012 Grounding

Clip . =

0.3x37%x20mm

100060006 Grounding o 0.3x@44mm
ip

KIAMEN TOP BEST TECH €O.,LTD




PV Mounting Factory| 12

11 | PV Mounting Factory

Grounding Clip Series >>>>>> Grounding Clip Series>>>>> >

Item NO. Name Picture Specification Drawing Item NO. Name Picture Specification Drawing
36
o ’@_ﬁfi 26
! 3 &
13# o=
. 194
100060013 Grounding 0.3x30x21mm 2 ’@/ 100060019 Grounding 0.5x36x30mm %z 19 )
Clip © ) Clip
15 ) o
45
o,
& @ 29% -
G 14#;1 oyl © 1S 20# o +
100060014 | AN ng 0.3x32x46mm © © | @ 100060020  Grounding 0.3x40x46mm  olo
Ip -3 & Cltp =T
.1 Q
46 +
154 ° % ° o= " kN
= =
100060015 Grounding | 0.3x30x48mm 5"[ 100060021 Grownding - D | oxe3emm
Clip L.ﬁ o o Clip TR
B
.- | 33.]
45
& o
164 o 18599 224 1
100060016 g;aundmg 0.3x45x39mm o o 100060022 Grounding . 0.3x40x50mm | :
'P A : Clip g s o
= o Sy L < |
O o -0 o [+]
o o
36
.
174 - 20.6
. 23# Rt
100060017 Grounding 03xg34mm 100060023 Grounding o 0 03x4236mm  oooi® 0
P Clip NN ¥eel,
o
184 22 - 5 >
100060018 girit:';undmg 03x48x32mm 100060024 Grounding e y 0.3x34x32mm
Clip § = o |
r- i i
24 |

XIAMEN TOF BEST TECH CO., LTD




13 | PV Mounting Factory #&%

Grounding Clip Series>>>> >

Item NO.

100060025

100060026

100060027

100060028

100060029

100060030

Name

25#
Grounding
Clip

26#
Grounding
Clip

27#
Grounding
Clip

28#
Grounding
Clip

294
Grounding
Clip

30#
Grounding
Clip

Specification

0.3x40x36mm

0.5x55x45mm

0.5x100x50mm

0.5x100x50mm

0.3x30x46mm

0.3x18x50mm

Drawing

36

47

B B
B B

40
24

§¢ 165 66

45

50

70

59

49

25

40

0 O

)

30
24

15.8

b

oo

13.5

oo

S

18

ol

25

Item NO.

100060031

100060032

100060033

100060034

100060035

100060036

Grounding Clip Series >>>>>

Name

314
Grounding
Clip

32#
Grounding
Clip

33#
Grounding
Clip

J44
Grounding
Clip

354
Grounding
Clip

36#
Grounding
Clip

R _

Specification

0.3x11x50mm

0.3x11x42mm

0.3x11x52mm

0.3x40x5Tmm

0.3x40x5Tmm

0.3x20x37.5mm

‘ PV Mounting Factory | 14

.49

7.7

10.7

40

40

20

12




15 | PV Mounting Factory J&8% P\ PV Mounting Factory | 16

Cable Clip Series »>>> > Cable Clip Series >>>>>.

Item NO. Name Picture Specification Drawing Item NO.

Name Picture Specification Drawing
22
o S : 3
100070001 1 Cable Clip ; 0.5x%22x18mm g Q . 100070007 ’ Cab!e dlip 0.5x21x14.8 o Y i i ml
(1-2 Lines) : \ o i (1-2 Lines) LKL 1X 1 A.5mT Yo @ w ¥
c .14 . @ e e
21
482
. 156 2 -
2 Cable Cli ' ! . ; =
100070002 (3.4 ines) E 0.5x333x165mm & ﬁjﬁ 100070009 ACabie ClP -w 0.6x48.2x17.5mm |||l|||
f 333 ] 4 —
10 322 6
156 _©
N G|
3 Cable Clip o m - 10 Cable Clip <, ﬁdg—f'—rr—g
100070003 (3o 0.5x33.3x165mm o ~ 100070010 TR Q 0.5x32x11.5mm -l
4 Cable Cli % 11 Cable Clip _
100070004 a u"eslp 5 0.5%22x10mm 100070011 3 4 ee) 0.5x47x11mm g
205 . s
3 Yo _ -
i ‘ : 12 Cable Cli
100070005 ﬁgmgip 0.5%23.6x12.5mm 5 éi E < 100070012 (34 1ines) 0.5x47x11mm W\Q)
0
o
23.6
258
. ™~ 19
= oo —
6 Cable Clip '\..\_,...- e} w~ 100070013 13 Cable Clip
100070006 (1-2 Lines) = 0.5x18.8x9.3mm o —— ol (1-2 Lines) 2x25.8x16.2mm Pk =
=t 'f 5 107 p m— -
. 188 . 2

XIAMEN TOP BEST TECH CO., LTD




17 | PV Mounting Factory

Grounding Lug Series >>>>>>

Iltem NO.

100090001

100090002

100090003

100090004

Name

1#Copper
Grounding
Lugs

2#Copper
Grounding
Lugs

3#Copper
Grounding
Lugs

4#Copper
Grounding
Lugs

Picture

Specification Drawing
_d
T7xW4d6.2xL23mm 462
13
o
AT || |19]s
A
T5xW46.2xL23mm e ¥
_ /
g_ 1G]
o 120
o
&
T3.9xW40xL18mm 40
10 o
1=
| CI
145
G
T
314 )
T3xW31.4xL15mm "
985 s
— i Ty
DT 4

13 4.7

Grounding Lug Series >>>>>>

Item NO.

100090005

100090006

100090007

100090008

Name

S#Aluminium

Grounding
Lugs

6#Copper
Grounding
Lugs

7#Copper
Grounding
Lugs

8#Copper
Grounding
Lugs

R _

Picture

@i

-

PV Mounting Factory| 18

Specification Drawing
=H
| 249 |
T7xW46.2xL23mm 14.5
B )
[
42
e

T5.5xM4mm i
Ta.8xM5mm
T10xMEmMm




19 | PV Mounting

Factory ‘

Ground Screw Series > >>> >

Description : Ground Screw - 1

Material : Q235B

Surface Treatment : HDG

Description : Ground Screw - 2

Material : Q235B
Surface Treatment : HDG

ltem No——>"2 | A(mm)| B(mm)| C(mm)| D(mm)| E(mm)
SF}?;‘S?;‘;E‘D}?“” 1600 | @76 | 3 10 2
S rorsoonz) | 1800 | @78 | 3 | 10 | 2
Sﬁ?;ﬁ?;;’g;‘;““ 2000 | @76 | 3 10 | 2
S rors0004 | 2200 | @76 | 3 | 10 | 2
Sﬁ’f;‘g?;‘gg;ﬁ*"“ 2500 | @76 | 3 10 | 2
A _

BE f e

=k h
ltem No——2¢| A(mm)| B(mm)| C(mm)| D(mm)| E(mm)
S rore000e | 1600 | @76 | 3 | s0 | 2
S 7ots000r, | 1800 | @76 | 3 | s0 | 2
rorsoo0s) | 2000 | o8 | 3 | s | 2
S 0150000, | 2200 | @76 | 3 | s0 | 2
Sﬁf;gfgsaﬁ?ﬂ 2500 | @76 | 3 50 2

++

E= 2

-

-]

M g

—1

=F

g

g

I

]

-

T

g

1

éL
3
g ;

Ground Screw Series >>>> >

nting Factory | 20

Description © Ground Screw - 3

Material : Q2358

Surface Treatment : HDG

Description © Ground Screw - 4

Material : Q2358

Surface Treatment : HDG

A .
B IQ D _'j’J
annn
™ T 111
UBAYARTERTA |
tem No——7¢| A(mm)| B(mm)| C(mm)| D(mm)| E(mm)
Si?%gjsggaﬂ?nn 1600 | @76 | 3 10 2
oo 2] wo| o | 5 | w0 | 2
S a0 | 2000 [ @76 | 3 | 10 | 2
o] o o | 5 | w |
S rara0is | 2500 [ @76 | 3 | 10 | 2
A
e
i Lug
Item No. Size | A(mm)| B(mm)| C(mm)
SPC-GSW1-500
(170150016) 500 | @76 | 3
SPC-GSW1-1000
(170150017) | 1000 | @76 | 3

R _




21 | PV Mounting F

actory ‘ ‘ PV

Mounting Factory | 22

Solar Mounting Rail Series >>>>>> Solar Mounting Rail Series >>>>>>
Item No. Description Picture Material/Length Drawing ltem No. Description Picture Material/Length Drawing
30.6
32
6.5] 16 18
Material:AL6005-T5 . Material:AL6005-T5
i 110050067 U Rail 1 .
120040148 H Rail 42 Length : 6000mm ) Length * 280mm S
18 |
Material:AL6005-T5 g . Material:ALG005-T5
120040007 Rail 46-1 Length : 5400mm - 110050050 U Rail 2 Length : 400mm S 13
60
26.4

Material:AL6005-T5

401 il 4
Length : 6000mm 120040137 Rail 46-2

170020001 40X40 Rail

18
Material:AL6005-T5  &| |
Length : 5000mm o i \
31.9
8.5
) 125.8 )
|| II 16
Material:AL6005-T5 Aluminum Materiai_:ALﬁUUS—TS ]
Length : 6000mm 2 170020003 | o ter Length : 6000mm  \Q
LU

. _

170020002 40X30 Rail

A 32




23 | PV Mounting Factory J&%

| 24

‘ PV Mounting Factory

Solar Mounting Rail Series >>>>> > Solar Mounting Rail Series >»>>>>>

Item No. Description Picture Material/Length Drawing Item No. Description Picture Material/Length Drawing
130
10 21.3
A o —:J F
Material:5350-ZM = Material:S350-ZM o~ 2
100040028 M Gutter Lengﬂf - 6000mm 100010202 U Steel Length : 6000mm 8] A
155 41.3
.:.l 40 i_,_k=_21-3
T Material:5350-ZM -
Material:S350-ZM avenalissat- o
100010141 C Steel Length : 6000mm 2 3 100010257 USteel Length : 6000mm R |
41.3
40
El 40
JI_J AD*E0*2 "
Material:5350-ZM 100030023 Rectangle Material:5350-ZM = -—=
100010333 CSteel Length : 6000mm 5 =2l Hollow Length : 6000mm
Section
100
10 21.3
Material:5350-ZM o 415 100%100*2 Material:S350-ZM 2 I
100010334 U Steel Length : 6000mm ¥ 100030022 Sgﬂarf?rube Length : 6000mm
41.3

XTAMEN

R _



25 | PV Mounting Factory

Solar Clamp Series >>>>>>

Item NO.

110010001

100130109

110010003

110010006

100100022

100100027

A

Name

Mid Clamp 1

Mid Clamp
with Pin

Mid Clamp 3

Mid Clamp 4

Adjustable
Mid Clamp

Bificial
Mid Clamp

Picture

Specification

12x20mm

12%48mm

25xd44mm

15x40mm

49mm

44 6mm

Drawing

42

14

3.7

12

20

3.6

42

3.7

12

20

3.6

25

8.5

40

20 |

14

15

I‘\

27.4

=

253

?3.&

216
25

446

15

9.9

446

Item NO.

110020004

170110010

110020009

110020007

100110023

100110044

Solar Clamp Series >>>>>.

Name Picture

End Clamp 1

End Clamp
with Pin

End Clamp 3

End Clamp 4

Adjustable
End Clamp

<
¥
—él/
%

Bificial
End Clamp

XIAMEN TOP BEST TECH CO., LTD

Specification

H30mm

H35mm

H35mm

H35mm

H30-45mm

H4-8mm/
HB8-12mm

PV Mounting Factory | 26

Drawing

299

4.1

34

14 186

345

9.9|

34.5

9.9

3.6

326

14.5 22.5

349

37

245

3.8

15

| olz5

33.5




27 | PV Mounting Factory

‘ V' Mounting Factory| 28

Solar Clamp Series >>>>> > Solar Clamp Series >>>>>>

Item NO. Name Picture Specification Drawing ltem NO. Name Picture Specification Drawing
40 56
16
|‘24_|14
il e
160010007  Mid Clamp 40x20mm e — 160010013 Mid Clamp 56x26mm
001 ‘ o N 007 S 5
=H
b 5]
0 26
46
14 i -
Mid Clam : = Mid Clamp 46x28mm
160010008 002 P 40x20mm o 160010014 008 o
y
28
40 46
A= ~ o=
Mid Clam Mid Clamp
160010009 i o p .- 40x20mm 3 = 160010015 005 46x28mm o B
' -
—
20 -~ !
46 :
40 ] ~]
o —~
Mid Clam Mid Clamp : 46x28mm 3 0
160010010 008 p _. 40x20mm 3 . 160010016 o1 : .
< :
20 | ! 78
5
12 18
. =i
160010011 Mid Clamp 38x20mm 160010017 Mid Clamp 52x28mm
005 &l 011
‘ 5
28
42 58
18
= ) . ) )
160010012  Mid Clamp 40x26mm 3 N 160010018 Mid Clamp 58x28mm
006 o o 012 5
%]
28

XIAMEN TOP BEST TECH CO., LTD




29 | PV Mounting Factory

ltem NO.

160010019

160010020

160010021

160010022

160010023

160010024

A

Solar Clamp Series >>>>>>

Name

Mid Clamp
013

Mid Clamp
014

Mid Clamp
015

Mid Clamp
016

Mid Clamp
017

Mid Clamp
018

L4

Picture

w/

W
2. 4

7

y

Specification Drawing
54
il
o
54x%28mm - 3
G
Ing
28
32.3
32.3x14.3mm E I |_<_
“ | _g
o
14,3
395
39.5x17mm = ~ 9
17
438
12
43.8x19.8mm
2
) 4§
45%x20mm

38x20mm ;Eri

20 Lo
38

14 =
20 | o

ltem NO.

160010025

160010026

160010027

160010028

160010029

160010030

Solar Clamp Series >>>>>>

Name

Mid Clamp
019

Mid Clamp
020

Mid Clamp
021

Mid Clamp
022

Mid Clamp
023

Mid Clamp
024

XIAMEN TOP BEST TECH CO., LTD

Picture

Specification

36x20mm

44x%20mm

46x28mm

50x30mm

60x40mm

S58x28mm

V Mounting Factory| 30

Drawing
3 .
14—‘9
7]
™~
20 |
44
| 14 I
I
« =
N h 4
20 |1
46 .
20
g
o4
3
28
,D —-ﬂ—
o
[z |
30
60
5
| S

40

40
45

17

26




31 | PV Mounting Factory

ltem NO.

160010031

160010032

160010033

160010034

160010035

160010036

A

Name

Mid Clamp
025

Mid Clamp
026

Mid Clamp
027

Mid Clamp
028

Mid Clamp
029

Mid Clamp
030

Solar Clamp Series >>>>>>

Picture

Specification

30x10mm

50x26mm

A40x18.8mm

40x18.8mm

42%20mm

35.5%19.5mm

Drawing

10

10

50

mj_f('ﬂg

Hr=:=

15

22

26

3
15

40

25

18.8

40

30

18.8

He b

20

35.5

13.5

2.9

uy
=

iC

ltem NO.

160010037

160010038

160010039

160010040

160010041

160010042

Solar Clamp Series >>>>>>

Name

Mid Clamp
031

Mid Clamp
032

Mid Clamp
033

Mid Clamp
034

Mid Clamp
035

Mid Clamp
036

XIAMEN TOP BEST TECH CO., LTD

Picture

Specification

A44x%20mm

40x22mm

50x26mm

48x28mm

43.8x19.8mm

40x20mm

V Mounting Factory| 32

Drawing

14

27

‘IﬁjH

20

25
3

43.8

37

21

9) E":g

20




33 | PV Mounting Factory

A

Solar Clamp Series >>>>>>

ltem NO.

160010043

160010044

160010045

160010046

160010047

160010048

Name

Mid Clamp
037

Mid Clamp
038

Mid Clamp
039

Mid Clamp
040

Mid Clamp
041

Mid Clamp
042

Picture

Specification

55%35mm

75%55mm

39.7x10mm

30.6x8mm

35x15mm

48x19.5mm

Drawing

55

26

75

47

21

55

1.5

!

35

35

11

22

15

48

Solar Clamp Series >>>>>.

ltem NO.

160010049

160010050

160010051

160010052

160010053

160010054

Name

Mid Clamp
043

Mid Clamp
044

Mid Clamp
045

Mid Clamp
046

Mid Clamp
047

Mid Clamp
048

XIAMEN TOP BEST TECH CO., LTD

Picture

Tt e«

Specification

A40%20mm

44x20mm

45x25mm

52x30mm

52.2%27 8mm

45%x25mm

V Mounting Factory| 34

Drawing

40

14

32

45
17
] "
[t
T3]
25
52
) 42
)
=
30
522
1L
<
o
27.8
45
b 4
(R




35 | PV Mounting Factory #8% PO\ PV Mounting Factory| 36

Solar Clamp Series >>>>> Solar Clamp Series >>>>
Item NO. Name Picture Specification Drawing ltem NO. Name Picture Specification Drawing
v 49
19 40
4] - ~ 14
: i
160010055 Mid Clamp - / 3 :ru 160010049 Mid Clamp : / 40x21mm Ak
049 49x25mm Y 055 N 35
25 =
J ' o 13.9 Installation Details :
160010056 ~Mid Clamp
050 41.5x21.5mm o U ‘s
21.9

146
160010057 Midﬂ‘;‘fmp ‘ / 36.2x19.2mm ik 23
o
19.2
40
052 P @
; 20
o 355
/—/ L
160010059  Mid Clamp ’ 35.5x21mm 2
053
|
) 40
, ) 44 (=
. 14 %
160010060 Mid Clamp / 40x20mm a ~
054 =
20

XTAMEN TOP BEST TECH CO., LTD A



37 | PV Mounting Factory

Solar Clamp Series >>>>>>.

ltem NO.

160020007

160020008

160020009

160020010

160020011

160020012

A

Name

End Clamp
001

End Clamp
002

End Clamp
003

End Clamp
004

End Clamp
005

End Clamp
006

Picture

|
|
|
|

Specification

H35mm

H40mm

H45mm

H50mm

H35mm

H40mm

Drawing

r_1ﬁ_‘

E

M

]
e

!

T
205 ﬂ

=
A

387
347

437
397

27 81

205

487
44 7

67

i -
205 ﬂ

517
407
™

16

35

40

Solar Clamp Series >>>>>>

ltem NO.

160020013

160020014

160020015

160020016

160020017

160020018

Name

End Clamp
007

End Clamp
008

End Clamp
010

End Clamp
011

End Clamp
012

XTAMEN

Picture

MOP BEST TECH CO., LTD

V Mounting Factory| 38

Specification Drawing
[Ty
- 3
[
H45mm . ii |!
Ly
s 3
H50mm &
E Jl
|_12.
wi
3
H35mm -
[
JIs
[zl
l_12.
[Ty
3 &
H40mm d
1
[Z]
|_‘]2_
L
H45mm = 3
4 |
lﬁ
7]
20
m =il
H40mm o |
A jﬁ o
[t



39 | PV Mounting Factory

‘ V' Mounting Factory| 40

Solar Clamp Series >>>>>> Solar Clamp Series >>>>>.

Item NO. Name Picture Specification Drawing ltem NO. Name Picture Specification Drawing
20
T I 45
5 27 . —
160020019  End Clamp H45mm o 160020025 ﬂ?;‘?.';,'?,;’ “ H5-8mm 5 =5 [ESe
013 3 jﬁ o 019-1A i = o
| T 5|27 Flexible PV .
exible -
160020020 Eﬂ{:] ::Iamp H50mm o 160020026 End Clamp ’ H5-8mm = <
4 9 ji ] 019-1B g
4
12
p 534
19 .
Flexible PV
160020021 End Clamp H32mm N 160020027 Mid Clamp ﬁ H10mm
5 ® all o 020-1A
13
=l =
& )
160020022 End Clamp H35mm o | 16000028 {ercers H10mm
| 020-1B
26
K]
| : _F.II . £} Flexible PV Car H9-14
: -14mm
160020023 Endu{.il;mp H40mm il i 160020029 End Clamp ._.—n
| = 021-1A :
F - sl _|5E
1]
- - 335
= 12 Flexible PV H9-14mm “
160020024  EndClamp H40mm 3] - 160020030 id Clamp -
018 S 021-1B w
.p""". 1

XIAMEN TOP BEST TECH CO., LTD




41 | PV Mounting Factory

Solar Clamp Series >>>>>>.

ltem NO.

160020031

160020032

160020033

160020034

160020035

160020036

A

Name

End Clamp
022

End Clamp
023

End Clamp
024

End Clamp
025

End Clamp
026

End Clamp
027

Picture

_..._..ri'--

Specification

H25mm

H35mm

H40mm

H40mm

H40mm

H45mm

Drawing

1, 22

25

35

34
15.5

18

39

15 22

40

27

1
Hal
15 22

4.8

40

5]

44 0

-
28

40

45

20
I
-

ltem NO.

160020037

160020038

160020039

160020040

160020041

160020042

Name

End Clamp
028

End Clamp
029

End Clamp
030

End Clamp
031

End Clamp
032

End Clamp
033

XIAMEN TOP BEST TECH CO., LTD

Solar Clamp Series >>>>>>

Picture

\ .\ N D P ‘l\ f\

Specification

H35mm

H40mm

H35mm

H10mm

H9-14mm

H9-14mm

V Mounting Factory| 42

Drawing
15
.Qm
S
U
15
Bk
S
5]
3N
[Ty
[ )
kL
30
= a1l -
2.6 o
15 a0
L=
[

135 22

25
3.6




43 | PV Mounting Factory J&%

PV Mounting Factory| 44

Solar Clamp Series >>>>>> Solar Clamp Series >>>>>.

Item NO. Name Picture Specification Drawing ltem NO. Name Picture Specification Drawing
36
48 -
= 1
= -
160020043 Flexible PV H5-9mm o o 160020049 End Clamp i \ H35mm
Mid Clamp & 037 : | . -
034-1A g
34 A4 30
160020044  Flexible PV H5-9mm QL0 160020050 ~ End Clamp . - H40mm .
End Clamp < 038 o =
034-18 =3 N 43
. o . =
160020045 H‘ERIHE PV H3-6mm ﬂ__ 160020051 End Clamp e H40mm
Mid Clamp o 039 i
035-1A 60 N 43
3L5 14 48
) nl [ —
160020046 Flexible PV , H3-6mm A 160020052 End Clamp H25mm -
End Clamp . / S 040
14 30
e <+
. <IN e
160020047 Flexible PV / T 160020053  End Clamp . H30mm o
Mid Clamp 041 @ —FL
036-1A -
136
30
30
mili2— =
160020048 Hexible PV % 160020054  End Clamp H30mm d L=
End Clamp = 042 z 'F"
036-1B A78
30

XIAMEN TOP BEST TECH CO., LTD




45 | PV Mounting Factory #8808 V Mounting Factory| 46

Solar Clamp Series >>>>>> Solar Clamp Series >>>>>.
Item NO. Name Picture Specification Drawing ltem NO. Name Picture Specification Drawing
35 26.7
160020055 End Clamp ‘- H16mm ! T4 o 160020061 End Clamp H30mm -
by o H
35 ™
B 30
—- _ 30
ﬂ- F = Himm )
160020056 EndClamp . v H30mm -+t 160020062 End Clamp P =
P 7 7T %0 T
-l o4

p 14 27 28.7
C 4 r
160020057 End Clamp . e H35mm - 160020063 End Clamp H35mm 27
045 - . 051 oo 165 o
- ﬁ [
1
21
41 287
- 15 ,-«’
- I |
160020058 End Clamp H30mm 160020064  End Clamp H30mm 27
046 . o -3 052 N 165 3
o
21
44
30
P p 422
160020059 End Clamp . H33mm o : 160020065  End Clamp i H30mm N
047 7 J 053 =
- B
_@- ]
267 -
10.4 422
4 - £ =
160020060 ~ End Clamp H30mm N 160020066  End Clamp . H35mm
048 = 3 X 054 9
7 :




47 | PV Mounting Factory &%

PV Mounting Factory| 48

Metal Roof Bracket Series > >>>> Metal Roof Bracket Series >>>>>
Item No. Description Picture Material/Length Drawing Item No. Description Picture Material/Length Drawing
80 ﬁ
| I 1 S Material:AL6005-T5
Universal - B Material:AL6005-T5 Metal Roof ﬁ aterial
100120002 Clamp Length * 60mm E i 170120003 Clamp 4 B 48 Length : 50mm L H
v o
W 3 @
| 56
42 48
< -
L il Material:AL6005-T5
Metal Roof ’Q Material:AL6005-T5 11 c Metal Roof | _
100120011 OO lﬁ Length : 50mm 0050050 ' Clamp 5 : Length : 50mm
44
16
- T
\-/‘6 :II Railless Roof
Metal Roof - Material:AL6005-T5 401 alliess How _ Material:AL6005-T5
170120001 Clamp 2 lﬁ Length : 50mm 120040137 Clamp-1 - Length : 80mm 2
: o i
o J [
[Tl
L )
! 18 i
-
= Material:AL6005-T5 -:I] Railless Roof . Materiai_:ALﬁf.}lJS—TS
170120002 Metal Roof q’ Material AL 100120005 s 'ﬁ Length : 110mm
Clamp 3 _— ) ) P
7.3




49 PV Mounting Factory ‘

Metal Roof Bracket Series »>>>> >

ltem No.

100120017

110040034

110040022

110040024

Description

Trapezoidal
Clamp 1

Trapezoidal
Clamp 2

L Feet 1

L Feet 2

Picture

2 2

Material/Length

Material: AL6005-TS
Length : 50mm

Material:AL6005-T5
Length : 50mm

Material:AL6005-T5
Length : 40mm

Material:AL6005-T5
Length ! 40mm

Drawing

45

38 |

80

40

125

40

Metal Roof Bracket Series >>>> >

Item No.

110040013

110040015

100120007

100120012

Description

Stailess Steel
Trapezoidal
Clamp 1

Stailess Steel
Trapezoidal
Clamp 2

Adjustable
Universal
Clamp 1

Adjustable
Universal
Clamp 2

Picture

Material/Length

Material:SUS304
Length : 100mm

Material:SUS304
Length : 100mm

Material:5U5304
Length : 100mm

Material:SUS304
Length : 100mm

‘ PV Mounting Factory | 50

Drawing

40

28

30

26

B _



y| 52

51 | PV Mounting Factory ‘ ‘ PV Mounting Factor

Item No. Description Picture Material/Length Drawing Item No. Description Picture Material/Length Drawing
22 228
. 1 [T ] - 17.5
) : ;m Material:AL6005-TS = s Material:AL6005-T5
110050060 M8 Sliding Nut ——— : & 110050001 M8 GH Rail - : s
with Spring Ball Length >/ 22mm —— on \’ Length: 20mm o ¢

16

Material:AL6005-T5 _ @ Material:AL6005-TS
Length : 20mm 3 _é 110050002 M8 ;ﬁtﬂall \‘ Length | 20mm @

7.5

20
=
)

f

=]

110050003 M8 Quick-
install Nut 1

110050040 M8 Quick-

U
i)
F
™
‘ L [
~ |th

Material:AL6005-T5 _ Material:5350-ZM
sz H 110060001 M8 U Rail Nut 1 e Length : 20mm = |

install Nut 2
~ [
.,

298

34,1

20.7

s o 46.5
M8 Quick- Material:AL6005-T5 Material:0235 N /]
110050041 install Nut 3 Length : 16mm 140020001 M8 U Rail Nut 2

32.8

SUs304 & :,]
Length : 35mm
18 |

. _



53 | PV Mounting

Factory ‘

Hanger Bolt Series >>>>>

Description : Hanger Bolt for Wooden
Material : SUS304 EPDM

Description : Hanger Bolt with Self-drilled Point
Material : Nickel Alloy, EPDM

ltem No———>128 | A(mm)| B(mm)| C(mm)
170120004 | 200 | M10 | 7
170120005 | 250 | M10 | 7
170120006 | 300 | M0 | 7

A

ltem No—— 2128 | A(mm)| B(mm)| C(mm)
170120007 200 M10 7
170120008 250 M0 7
170120009 300 M10 7

Hanger Bolt Series >>>>>

‘ PV Mounting Factory | 54

Description I Hanger Bolt for Steel
Material : SUS304,EPDM

Description . Hanger Bolt for Steel Quick Install

Material : SUS304,EPDM

».,(Xx’/
XX

XIAMEN TOF BEST TECH CO., LTD

O

Size

Item No. A{mm)| B(mm)| C{mm)
170120010 200 | M10 | 7
170120011 250 | M10 | 7
170150012 300 | M10 | 7

A

N A(mm)| B(mm)| C(mm)
170120013 75 | M0 | 7
170120014 120 | M10 | 7
170120015 160 | M10 | 7
170120016 200 | M10 | 7
170120017 250 | M10 | 7
170120018 300 | M10 | 7
170120019 350 | M10 | 7




55 | PV Mounting Factory A PV Mounting Factory| 56

Hex Socket Bolt Series >>> > > Hex Head Bolt Series>>>> >

lrllu [II[Illl !i l. l|'|| I| I| I| I| I| [l |-|-|-I-I'II| I| II II'I

i .lhlI”“”””””--I-I-llll | L
- M10
L
- M12
v o %9 v o

Description Size Material Standard

Description Size Material Standard L16 Hex head bolt M8 SUS304 GB/DIN

L10 Hex socket bolt M6/M8 SUS304 GB/DIN L18 Hex head bolt M8 SUS304 GB/DIN
L12 Hex socket bolt M6/M8 SUS304 GB/DIN L20 Hex head bolt ME/M10/M12 SUS304 GB/DIN
L14 Hex socket bolt M6/M8 SUS304 GB/DIN L25 Hex head bolt ME/M10/M12 SUS304 GB/DIN
L16 Hex socket bolt ME/MS SUS304 GB/DIN L30 Hex head bolt MaM10/M12 SUS304 GE/DIN
L20 Hex socket bolt M6/M8/M10/M12 S5US304 GB/DIN L35 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L25 Hex socket bolt MB/MB/MA0/M12 SUS304 GB/DIN L40 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L30 Hex socket bolt MB/MB/MA0/M12 SUS304 GB/DIN L45 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L35 Hex socket bolt ME/M8/M10/M12 SUS304 GE/DIN L50 Hex head bolt Ma/M10/M12 SUS304 GB/DIN
L40 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L5S Hex head bolt M8/M10/M12 SUS304 GB/DIN
45 Hex socket bolt M6/M&/M10/M12 SUS304 GB/DIN LEO Hex head bolt M8/M10/M12 SUS304 GE/DIN
L50 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L65 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L55 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L70 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L60 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L75 Hex head bolt M8/M10/M 12 SUS304 GB/DIN
L65 Hex socket bolt M&/M8/M10/M12 SUS304 GB/DIN L8O Hex head bolt M8/M10/M12 SUS304 GB/DIN
L70 Hex socket bolt M6/M8/M10/M12 SUS304 GBIDIN L85 Hex head bolt M8/N10/M12 SUS304 GB/DIN
L75 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L90 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L80 Hex socket bolt M6/M8/M10/M12 SUS304 GB/DIN L100 Hex head bolt M8/M10/M12 SUS304 GB/DIN
L85 Hex socket bolt MB/MB/M10/M12 SUS304 GB/DIN L110 Hex head bolt M10/M12 SUS304 GB/DIN
L90 Hex socket bolt M8/M10/M12 SUS304 GB/DIN L120 Hex head bolt M10/M12 SUS304 GB/DIN
L100 Hex socket bolt M8/MA0/M12 SUS304 GB/DIN L130 Hex head bolt M10/M12 SUS304 GB/DIN
L110 Hex socket bolt M10/M12 SUS304 GB/DIN L140 Hex head bolt M10/M12 SUS304 GB/DIN
L120 Hex socket bolt M10/M12 SUS304 GE/DIN L150 Hex head bolt M10/M12 SUS304 GB/DIN

R _



57 | PV Mo

unting Factory ‘ ‘

PV Mounting Factory| 38

T Head Bolt Series>>>> > Screw Series >>>> > >
8 8
, ~ I
” w N .ulj A
! I = l\l-\‘lllm\ll||||||llllllll|I‘I\ Description : i
pox 3 - LS ption : Screw Series 1
- il 7 U |
Material : Steel/Stainless Steel
Diameter : 4.8/5.5/6.3
8 0 Length : 25/30/35/40/45/50/60/65/70/75/80......
g SO
< IE
™~ o ||||||lll.||.ul-l-|.\||\|I|||||||||l||._||. =
L o4
/ 57 2 S .
Description Size Material Standard
T Bolt 13.5"8"5 M8"20 SUS304 GB/DIN Description : Screw Series 2
T Bolt_13.5'8"5 M8*25 SUS304 GB/DIN
T Bolt_13.5'8"5 M8*30 SUS304 GB/DIN Material : Steel/Stainless Steel
T Bolt 13.5'8"5 M8*35 SUS304 GB/DIN
T Bolt 13.5°8"5 M8*40 SUS304 GB/DIN Diameter : 6.3......
T Bolt_13.5'8"5 M8*45 SUS304 GB/DIN _
T Bolt_13.5'8'5 M&*50 SUS304 GB/DIN Length : 80......
T Bolt_14.5'8"5 M8*20 SUS304 GB/DIN
T Bolt_14.5'8"5 M8*25 SUS304 GB/DIN
T Bolt_14.5'8"5 M8*30 SUS304 GB/DIN
T Bolt 14585 M8*35 SUS304 B DIN |
T Bolt 14.5'8"5 M8*40 SUS304 GB/DIN
T Bolt_14.5'8"5 M8*45 SUS304 GB/DIN
T Bolt 14.5'8'5 M8*50 SUS304 GB/DIN
T Bolt 17.8°8"5 M8*20 SUS304 GB/DIN
T Bolt 17.8°8"5 M8*25 SUS304 GB/DIN
T Bolt 17.8°8"5 M8*30 SUS304 GB/DIN
T Bolt_17.8°8*5 Mg*35 SUS304 GB/DIN
T Bolt 17.8°8%5 MB"40 SUS304 GB/DIN Description : Screw Series 3
T Bolt 17.8°8*5 M8*45 SUS304 GBI/DIN
T Bolt 17.8'8*5 M8*50 SUS304 GB/DIN Material : Steel/Stainless Steel
T Bolt_22.8°10*5 M8*20 SUS304 GB/DIN
T Bolt 22.8°10"5 M8*25 SUS304 GB/DIN Diameter : M8......
T Bolt_22.8°10*5 M8*30 SUS304 GB/DIN Lenath * 4
T Bolt 22.8°10*5 M8*35 SUS304 GB/DIN ength : 42.5......
T Bolt 22.8°10°5 M8*40 SUS304 GB/DIN
T Bolt_22.8°10*5 M8*45 SUS304 GB/DIN
T Bolt 22.8°10*5 M8*50 SUS304 GB/DIN

NIAMEN TOP BEST TECH CO




PV Mounting Factory| 60

Mounting Factory Jf0%

59 | PV

Washer Series>>>> >

Rubber Pad Series >>>>>

Description : Serrated
Washer

Material : SUS304
Standard . GB/DIN

T MIZ2

ISR
Description © Flat Washer @105 “353’
Material 1 SUS304 @\E """""" M10 =
Standard : GB/DIN 13
------------- Mi2 o
20
USRS M8 ,.
Description : Spring Washer 10.5 -
Material : SUS304 % M10 D
Standard : GB/DIN =
12.5 =
H 2 ] I _____________ M12 ’
X
~
@8.5 ~
Description : Dish Pad e\; """"""" s |
Material : SUS304
Standard . GE/DIN ‘
T ME r
- M8

3.7
ey
Description : Gasket Washer
Material : SUS304/EPDM 7 0
16
50
Description : Rubber Pad oo
50%18*2 bl
Material : EPOM r2
[
40
Description : Rubber Pad o
=
A0x40x2 O
Material : EPDM

Description : Customized
Rubber Pads

Material : EPDM

XIAMEN TOP BEST TECH CO., LTD




61 | PV Mounting Factory 408

PV Mounting Factory| 62

Water Drain Clip Series >>>>>.

Description Specification Material
H25 Plastic water drain clips H25 ABS/ASA
H30 Plastic water drain clips H30 ABS/ASA
H35 Plastic water drain clips H35 ABS/ASA
H40 Plastic water drain clips H40 ABS/ASA
H45 Plastic water drain clips H45 ABS/ASA
HS0 Plastic water drain clips H50 ABS/ASA

o L r’M“r I

) L

Description Specification Material
H30 Stainless steel water drain clips H30 SUsS3n4
H35 Stainless steel water drain clips H35 SUS304
H40 Stainless steel water drain clips H40 SUS3n4

Water Drain Clip Series >>>>>:

Description Specification Material
H25 Zinc alloy water drain clips H25 Zinc alloy+SUS304
H28 Zinc alloy water drain clips H28 Zinc alloy+SUS304
H30 Zinc alloy water drain clips H30 Zinc alloy+SUS304
H32 Zinc alloy water drain clips Ha32 Zinc alloy+SUS304
H35 Zinc alloy water drain clips H35 Zinc alloy+SUS304
H38 Zinc alloy water drain clips H38 Zinc alloy+SUS304
H40 Zinc alloy water drain clips H40 Zinc alloy+SUS304
H45 Zinc alloy water drain clips H45 Zinc alloy+SUS304
H50 Zinc alloy water drain clips HS0 Zinc alloy+SUS304

R _



63 | PV Mounting Factory A PV Mounting Factory | 64

XIAMEN TOP BEST TECH Co,, LTD

Waterproof Component Series-ZAM >>>>5> > Waterproof Component Series-ZAM >>>> 5>
Description : M Rail 130 B s A Description : U-Roof Ridge 1080
Water Channel _”_9
Material : S350-ZM S oodpood Material : $350-ZM 9 39T
N . —_— N ==
Item NO. : 100040027 ! 9 Item NO. : 100040075 \170/
155 LE000
. 28 1050
Description : M Rail N*50 Description : Cover Y “
Material © S350-ZM 0o d'llb ooo Material : S350-ZM : fjf! :
Item NO. : 100040028 ltem NO. 1100040059 ' AN )|
L6000
23
Description : M Rail MN*50 Description :Roof Ridge
Upper
Material 1 S350-ZM 1 00 dpoo0 Connector _
Item NO. : 100040029 9 Material : S350-ZM
L6000 9
Item NO. : 100040044 =
[l S
NPT Description : Rood Ridge
Description ‘U-Water —[—E \ 1060 Bottom
Channel :t2£] C ] Connector _ |
Material : $350-ZM Material : $350-ZM '
Item NO. : 100040030 item NO. : 100040042



65 | PV Mounting Factory ‘

Waterproof Component Series-ZAM >5>>5 5>

Waterproof Component Series-ZAM >>>> >

PV Mounting Factory | 66

Description : Roof Ridge
Side Connector

Iltem NO. 2110100001

40

o 0 O o™
Material : S350-ZM B - EED| |
Itern NO. 1100040043 )
20
Description : Front Water
Channel 20
Material : $350-ZM g
Item NO. : 100040084 S
100
15 95
Description : Rimmed Sink
Material : $350-ZM 9
Itemn NO. : 100040085 N
|2
203
19.62
—13-9—‘ 40
Description : M Rail Clamp L . 4
=1
Material : AL6005-T5 —I ‘q\h ﬁ-f:.‘f’ ['"T'In

Description © M Rail Clamp
Block

Material : ALB005-TS
Item NO, ;110100002

%40
wi

40

[Description : M Rail Fixed
Clamp L140

Material : ALB005-TS
ltem NO. 2110100008

]-QT 14 52
Description : M Rail Fixed
Clamp L80 ) T = 2-12
Material : AL6005-TS ﬁ | :j -
ltem NO. 1 1101000086 8.5 20 10
Description : M Rail Fixed 10.2 14 62
Clamp L90 |2_12
Material : AL6005-T5 o - O—H
[

Item NO. : 110100020 10

90

140

28.5
R te
[

14 112

XIAMEN TOP BEST TECH Co., LTD



67 | PV Mounting Factory ‘

PV Mounting Factory | 68

Waterproof Component Series-ZAM >>>> > >

Waterproof Component Series-ZAM >>>> >

Material : 5350-ZM
Itern NO. : 110100008

10.2 285
Description : M Rail Fixed J
Clamp L50 " g;;| ¢
Material : AL6005-T5 &
Item NO. : 110100004 In 50
56,3
26.3 27
)
Description : M Rail Fixed . ﬂ 3l
Clamp L50 & ™
Material : AL6005-T5 | 33
Item NO. 1110100004
£ | 5
Description : M Rail Fixed 72
Clamp L72 10, 52 i 53.},5

-
|_26_|

Description : Solar Panel
Clamp Plate

Material © S350-ZM
Iltem NO. 2100050004

52

30

O

70

Description : M Rail Clamp
Plate LB2

Material : $350-ZM
Iltem NO, 1110100021

82

5= o

|

Description : M Rail Clamp
Plate L132

Material : $350-ZM
ltem NO. 1110100007

;
2

Description : U Bolt @
MB*105*44 g
Material : Q235B 1 L
Itern NO. 140040024 =
Ma| | 44
T
Description :U Bolt 9
M8*125"44 0]
Material : Q235B ]
ltern NO. 1140040033 o
=T
M8a

XIAMEN TOP BEST TECH Co., LTD




69 | PV Mounting Factory #&0% ¥ '\ PV Mounting Factory| 70

Waterproof Component Series-ZAM >>>> Waterproof Component Series-ZAM >>>>

' ™y = ""_:_1.' Effect Picture :
Description @ U Bolt | J

M8 145%54
Material : Q235B
ltem NO. - 140040048

145
40 ; 105
S 40 ==
[———

M8 || 54

] N
|
Description © U Bolt ol M
M8 145104 = |
<
Material : Q235B A .
ltem NO. 1140040034 T )
o I I
=T
M8 | | 104
8! I
%
I' Installation Details :
Description . U Bolt _ a o
Customized
Size W .
Material : Q2358 T
- I
B A

o

40

Description © M Rail Clamp

Material : S350-ZM 137

Item NO. : 100040085 ! !
ﬂ 132.31 E
f
[ 139.79 |

XIAMEN TOP BEST TECH CO., LTD i



71 | PV Mounting Factory ‘

PV Mounting Factory | 72

Waterproof Component Series-Aluminum >>>>> Waterproof Component Series-Aluminum >>>>>

— 224
Description © W Rail Description : Clamp o
Material : ALB005-TS 32 Material : ALB005-T5 7
S0
Description : U-water 90
channel { B ] Description : L Clamp AL
Material : AL6005-T5 L - . &
Material © ALB005-TS

Installation Details :

60.74

Description © Cover

Material : ALB005-T5
16.6
118

Description ! W Rail

connector

Material : AL6005-T5

Cd

XIAMEN TOP BEST TECH CoO., LTD




73 | PV Mounting Facto

ry 08

Solar Panel Bird Guard Series >>>>>

Description @ Solar Panel Bird Guard

Material : Q195

Description © Solar Panel Mesh Clip
Material : SUS304,0235

@1.1 125 125
o {
[
&~ :

30500
1.1 125 12.5
3

30500

Cable Tie Series »>>>>>

& PV Mounting Factory | 74

Description © Cable Ties

Material : SUS304/5U5316

Width [ Length Material Surface treatment
4.6mm| 150mm| SUS304/SUS316|No/Plastic spraying
4.6mm| 200mm| SUS304/SUS316|No/Plastic spraying
4.6mm| 250mm| SUS304/SUS316|No/Plastic spraying
4.6mm| 300mm| SUS304/SUS316|No/Plastic spraying
4.6mm| 360mm| SUS304/SUS316|No/Plastic spraying
4.6mm| 400mm| SUS304/SUS316|No/Plastic spraying
7.9mm| 300mm| SUS304/SUS316|No/Plastic spraying
7.9mm| 360mm| SUS304/SUS316|No/Plastic spraying|
7.9mm| 400mm| SUS304/SUS316|No/Plastic spraying
7.9mm|520mm| SUS304/SUS316|No/Plastic spraying
Description © Nylon Cable Ties
Material © Nylon
Width | Length | Material Width | Length | Material
2.5mm|100mm| Nylon 4.6mm|200mm| Nylon
e —— 2.5mm|150mm| Nylon 4.6mm|250mm| Nylon
2.5mm|200mm| Nylon 4.6mm|300mm| Nylon
= 2.5mm|300mm| Nylon 4.6mm|350mm| Nylon
_ 2.6mm|100mm| Nylon 4.6mm|380mm| Nylon
3.6mm|150mm| Nylon 4. 6mm|400mm| Nylon
= 3.6mm[200mm| Nylon | [4.6mm|450mm| Nylon
: 3.6mm|250mm| Nylon 4.6mm|500mm| Nylon
3.6mm|300mm| Nylon 7.6mm|300mm| Nylon
3.6mm|350mm| Nylon 7.6mm|250mm| Nylon
3.6mm|370mm| Nylon 7.6mm|300mm| Nylon
| 3.6mm|400mm| Nylon 7.6mm|350mm| Nylon
_ 7.6mm|400mm| Nylon
7.6mm{450mm| Nylon
7.6mm|500mm| Nylon
7.6mm|550mm| Nylon
7.6mm|600mm| Nylon
XIAMEN TOF BEST TECH CO., LTD



75 | PV Mounting Factory

A

PV Mounting Factory | 76

Walkway Series >>>>>> Walkway Series >>>>>>

Description : FRP Walkway

Description © Steel Walkway
Material © FRP Material : ZAM

Gzi!d size Height Height Width Thickness
BE‘SBmm 25mm 30mm 400mm 1mm
45*45mm 30mm 35mm 500mm 1.4mm
50*50mm 35mm

Description : Components List

Description ! Components List
Material : SUS304/EPDM

Material © SUS304/AL6005-TS

Self tapping screw

Bolt Kit

XIAMEN TOF BEST TECH CO., LTD



77 | PV Mounting Factory ‘ PV Mounting Factory | 78

Cable Tray Series >>>>>> Cable Tray Series >>>>>>
Description : Steel Cable Tray Description - Cable Tray System
Material : ZAM Material : Q235

“h"‘-\-
. oy
Height Width Thickness — e > Height Width  |Wire Diameter
50-200mm 50-1200mm 1mm o /;.of'.:-h.. “*-3.‘ 50-150mm 50-600mm | 0.8/1mm
; f T e =

Description : Components List Description © Components List

Material : ZAM/SUS304 Material | Q235/AL6005-T5/SUS304
-
- Cable Tray ~ | Elbow90° f Tee
—
’ Cross . Inside Riser Bolts
h ' Bolt Kit Rail

Application Photo

XIAMEN TOF BEST TECH CO., LTD




79 | PV Mounting Factory PV Mounting Factory | 80

Multifunctional Snow and Water Clamp > > Multifunctional Snow and Water Clamp >>>

L
Description © Multifunctional Snow And Water Clamp - A Description © Multifunctional Snow And Water Clamp - B
Material : ALB005-TS Material : AL6005-T5,SUS304
Iter NO. © 110050076 Item NO. : 100020055,100020056
—
E—
' 'y EE —T ?i
\ - 40
~ I FAVAVAVN
—
16.8 | ; EREN
El e
9986
1 =
|
{0, 84

XIAMEN TOP BEST TECH CO., LTD



SOLAR ROOF MOUNTING &
SYSTEM PROJECTS

SOLAR ENERGY



'SOLAR GROUND MOUNE
SYSTEM PROJECTS == ——

T T - e P W
- .

s 8
= \m

e A T
\&?\W
W‘i









